é @ fyra brak, ordningsfoljd

namn: Datum: Poéng:

1 1 1 1 1 1

- — — =10 = —— — X —+ - =

5 x50 > 27272

1 3 1 1

_+ Z+8= -—11 —=+11 =

3 o4 X358 5 103

1 1 1 1

3 35><2 5 3 55><2

1 1 3 1 1 3 1 1

—_F —— — X — = —+ — X —— — =

3 2 2 4 2 2 3 2

6x -9 2_ 1,3 2
3 2 6 5 5
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é @ fyra brak, ordningsfoljd

namn: Datum: Poéng:

1 1 5 1 11 1 1 3
L 60X +10=(—2) = (-2~ Sl
7 3 (3)=(23) 2 37327373
1 3 7 2 I 1 47 2
S heax2eg= L5 L 0x =1l = (=32
305787 570 5 103 3 = 35)
1 1 I 1 17 5
L 435 x-5=4 LS x o ll= k=22
5 TP XSES 37975 6“6
1103 1 1 13 1 1 1
—_F - — — X - = — —_F - X - - = =
32 2 4 M 27373 373

3 12 12 2 6 55 75
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